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There are 7 trees in
the field. There are 5
birds in each tree.

Amber has 24 flowers. 7
She puts them into ‘
2 vases.
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There are ‘ birds in the trees. She puts D flowers into each vase.

Ellis has 5 shelves Leon bakes 12 cakes.

in his room. He puts 5 chocolate
Altogether he has buttons on each one.
40 books.
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Ellis has D books on each shelf. Leon uses D chocolate buttons.

Min has 2 toy
boxes. She tidies
away 11 games
into each one.
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There are 30 pencils

in the class. They are
shared equally between
5 pots.

Min has D games altogether. . There are ‘ pencils in each pot.

| Children look at each word problem and decide which operation to use to solve it. Then they write the
appropriate calculation in the spaces provided and fill in the answer to complete each sentence.
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